
RC 250 R 2013 <2013><EU><F8199M0>
AIR FILTER

14105

Pos Part Number Description Additional Text Quantity

1 B3306003044 AIRBOX COVER UNPAINTED 1.00

2 B3306040002 AIRBOX SEAL B33+R33 1.00

3 B3306015000 AIR FILTER B33+R33 1.00

4 B3306040044 REAR INTAKE DUCT B33+R33 1.00

5 B3306041044 FRONT INTAKE DUCT B33+R33 1.00

6 B3306016000 R-CLIP SMALL 4.00

7 B3306010000 BUSH 1.00

8 62142041000 DAMP. COMPONENT ABS MODUL 3.00

9 58431082100 YDNAC-clamp 10173 (16MM) 2.00

10 61041080000 AMBIENT-AIR TEMPERATURE SENSOR 1.00

11 0025050166 HH collar screw M5x16 TX30 2.00

12 GP3350120100 RUBBER DAMPER 1.00

13 M3235012000 LOCATOR PIN 1.00



14 B3303070000 AIRBOX PIN 1.00

15 0934050003 HEXAGON NUT DIN0934-M 5 1.00

16 59031050100 ENGINE BREATHER TUBE 00 1.00

17 0025050106 HH collar screw M5x10 TX30 3.00

18 B3341040106 INTAKE AIR DUCT L210 1.00

19 0025050166 HH collar screw M5x16 TX30 2.00


